
ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       
                  

 

ISSUED BY WEEK DOC. TYPE PRODUCT CODE TITLE

EMe-BL  1310 2 5900 MECHANICAL INSTALLATION DWG 
RR FOR PARABOLIC ANTENNA APPROVED BY WEEK FILE 

EMe-MH 1313  MSWord 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO. ISSUE PAGE

D7000001-610 01 1/8 
Normal.dotm 

 

Reference Reflector for Parabolic Antenna 

1 Function 
The Reference Reflector (RR) shall be installed under the antenna, hanging in a wire fixed to the 
Parabolic Antenna. The RR will introduce an echo that can be used for Proof Test (test of high level 
alarm). 

2 Reference reflector kit Parabolic Antenna 
Below all parts in the kit are specified. Make sure that the Reference reflector kit is complete. 
 

 Wire Assy     Weight Assy 

      
  

  

SPRING WASHER 

NUT M8 

NUT M8 

WASHER 

M8 TERMINAL 

WIRE Ø4 mm 
Length 5 m 

NUT M12 

SPRING WASHER 

WEIGHT 

M6 SCREW (2X) 
ALLEN KEY SIZE 3 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 2/8 
Normal.dotm 

  Reference Reflector 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
  
 
 

Ring Clamping Assy 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 

  

Ø135 mm 

Ø200 mm 

CLAMPING RING 

M6 SCREW 
M6 CYLINDER NUT 

Ø90mm 

Ø200 mm Ø250 mm 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 3/8 
Normal.dotm 

3 Installation overview 
  

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 4/8 
Normal.dotm 

 

4 Installation instruction 

4.1 Define the Reference Reflector Position (RR Position) and calculate the Reference 
Reflector Distance (RR Distance), see installation overview. 

4.2 Choose right size of reflector 

There are four reflectors to choose from. The reflector to select depends upon the RR Distance. 
 
      Reflector Diameter Ø 

 0.6 ≤ RR Distance < 2 m   250 mm 
   2 ≤ RR Distance < 3 m   200 mm 
 3 ≤ RR Distance < 4 m   135 mm 
 4 ≤ RR Distance ≤ 5 m   90 mm 
 
 
 
 
 
 

4.3 Assemble the reflector 
 
 

 
 
 
 

  

M12 NUT Torque = 18Nm 

SPRING WASHER 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 5/8 
Normal.dotm 

4.4 Calculate Wire distance 

CAUTION: Handle the wire and assembly with care to avoid permanent bends on the wire. 
 
The instruction below requires a horizontally mounted Parabolic Antenna.  
 
Clamped connection: 

  Find out thickness of flange (T) and thickness of flange gasket (Ga). 
  Wire distance = Reference Reflector Distance 1) + Ga + T - 243 mm. 
 

1) See illustration in Installation overview on page 3 
 
   
 
 
   
 
 
 
 
 
 
 
 
 
 
 
 
  

REFLECTOR
 

M6 SCREW 
Torque=2.5 Nm 

Cut the wire 0-150 mm below the weight 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 6/8 
Normal.dotm 

 
  Welded connection: 
  Find out distance (W) and thickness of flange gasket (Ga). 
  Wire distance = Reference Reflector Distance 2) + Ga - W- 194 mm. 
 

2) See illustration in Installation overview on page 3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4.5 Assemble the weight on wire 

Before cutting the wire, feed the wire through the hole in the weight. 
Position the weight to get the correct wire length. Tighten the two screws. 

4.6 Cut the wire 
  

Cut the wire 0-150 mm below the weight

REFLECTOR

M6 SCREW 
Torque=2.5 Nm 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 7/8 
Normal.dotm 

 

4.7 Assemble the Clamping Ring on the Parabolic Antenna 

The Clamping ring shall be mounted in a way that the reflector kit is directed towards the tank centre. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4.8 Assemble the M8 terminal on the Clamping Ring 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

TANK CENTRE 

M6 SCREW 
Torque = 2.3Nm 

NUT M8 
Torque = 8Nm 

SPRING WASHER 

WASHER 

NUT M8 

WIRE + M8 TERMINAL 

CLAMPING RING 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty



ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK ISSUE MODIF. ORDER NO. WEEK 

01 SME-7803 1349       

 

 

The copyright/ownership of this document is 
and will remain ours. The document must not
be used without our authorization or brought 
to the knowledge of a third party. 
Contravention will be prosecuted. 
Rosemount Tank Radar AB 

DOC NO.  PAGE

D7000001-610 01 8/8 
Normal.dotm 

View of Tank, Parabolic Antenna and Reference Reflector from above. 
 
 

 
 

 
 
 

 

4.9 Finalization of the mechanical installation 

CAUTION: Lower the weight and reflector carefully into the tank by feeding the wire to its full length. 

Tank centre 

Tank wall 

Parabolic Antenna 

20
14

-0
1-

21
 E

le
ct

ro
ni

c 
M

as
te

r 
- 

PR
IN

T
E

D
 C

O
PI

E
S 

A
R

E
 U

N
C

O
N

T
R

O
L

L
E

D
 -

 R
os

em
ou

nt
 P

ro
pr

ie
ty


